SCH DETAIL REPORT SUPPLEMENT HNRS COURSES MAPPED TO COLLEGE OF INSTRUCTOR EXCLUDES AUDITS 14TH CLASS DAY FOR SUMMER 2024

| | | | LLU | | | ULU | | Total | | | | |
|-------------------------------------|------|------------------|------------|------|------------------|------------|-------|------------------|------------|-------|--|--|
| | | Section Count | Enrollment | SCH | Section Count | Enrollment | SCH | Section Count | Enrollment | SCH | | |
| Agriculture | HNRS | | | | 1 | 1 | 3.0 | 1 | 1 | 3.0 | | |
| Engineering | HNRS | | | | 1 | 2 | 6.0 | 1 | 2 | 6.0 | | |
| Humanities and Social Sciences | HNRS | | | | 1 | 4 | 12.0 | 1 | 4 | 12.0 | | |
| Music and Dramatic Arts | HNRS | | | | 1 | 6 | 18.0 | 1 | 6 | 18.0 | | |
| Roger Hadfield Ogden Honors College | HNRS | 1 | 13 | 39.0 | 5 | 31 | 93.0 | 6 | 44 | 132.0 | | |
| Science | HNRS | | | | 3 | 6 | 18.0 | 3 | 6 | 18.0 | | |
| Total | | 1 | 13 | 39.0 | 12 | 50 | 150.0 | 13 | 63 | 189.0 | | |

SCH DETAIL REPORT SUPPLEMENT HNRS COURSES MAPPED TO COLLEGE OF INSTRUCTOR EXCLUDES AUDITS 14TH CLASS DAY FOR SUMMER 2024

| С | ollege | of Ag | riculture | | | | | | | | | | | | | |
|-------|--------|-------|------------------|------|-----|-----|-----|-----|---------|-----|---------|-----|----------|-----|-------|-----|
| RESP | | | | | | U | ULU | | MASTERS | | SP PROF | | DOCTORAL | | TOTAL | |
| UNIT | DEPT | CRSE | SEC SES LOC DELV | CRED | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH |
| | HNRS | 4000 | 001 | 3.0 | | | 1 | 3.0 | | | | | | | 1 | 3.0 |
| COLLE | GE TOT | AL | 1 | | | | 1 | 3.0 | | | | | | | 1 | 3.0 |

SCH DETAIL REPORT SUPPLEMENT HNRS COURSES MAPPED TO COLLEGE OF INSTRUCTOR EXCLUDES AUDITS 14TH CLASS DAY FOR SUMMER 2024

College of Engineering

| RESP | SP | | | LL | U | ULU | | MASTERS | | SP PROF | | DOCTORAL | | TOTAL | | | |
|------|---------|------|---------|------------|------|-----|-----|---------|-----|---------|-----|----------|-----|-------|-----|-----|-----|
| UNIT | DEPT | CRSE | SEC SES | S LOC DELV | CRED | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH |
| AP | HNRS | 2020 | 040 | GE | 3.0 | | | 2 | 6.0 | | | | | | | 2 | 6.0 |
| COLL | EGE TOT | AL | 1 | | | | | 2 | 6.0 | | | | | | | 2 | 6.0 |

SCH DETAIL REPORT SUPPLEMENT HNRS COURSES MAPPED TO COLLEGE OF INSTRUCTOR EXCLUDES AUDITS 14TH CLASS DAY FOR SUMMER 2024

College of Humanities and Social Sciences

| RESP | SP | | | LL | U | ULU | | MASTERS | | SP PROF | | DOCTORAL | | т0- | TAL | | |
|------|---------|------|---------|------------|------|-----|-----|---------|------|---------|-----|----------|-----|-----|-----|-----|------|
| UNIT | DEPT | CRSE | SEC SES | S LOC DELV | CRED | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH |
| AP | HNRS | 3025 | 060 | LN | 3.0 | | | 4 | 12.0 | | | | | | | 4 | 12.0 |
| COLL | EGE TOT | AL | 1 | | | | | 4 | 12.0 | | | | | | | 4 | 12.0 |

SCH DETAIL REPORT SUPPLEMENT HNRS COURSES MAPPED TO COLLEGE OF INSTRUCTOR EXCLUDES AUDITS 14TH CLASS DAY FOR SUMMER 2024

College of Music and Dramatic Arts

| RESP | RESP | | | | LLU | | ULU | | MASTERS | | SP PROF | | DOCTORAL | | т0- | TAL | |
|------|---------|------|---------|------------|------|-----|-----|-----|---------|-----|---------|-----|----------|-----|-----|-----|------|
| UNIT | DEPT | CRSE | SEC SES | S LOC DELV | CRED | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH |
| AP | HNRS | 2021 | 080 | LN | 3.0 | | | 6 | 18.0 | | | | | | | 6 | 18.0 |
| COLL | EGE TOT | AL | 1 | | | | | 6 | 18.0 | | | | | | | 6 | 18.0 |

SCH DETAIL REPORT SUPPLEMENT HNRS COURSES MAPPED TO COLLEGE OF INSTRUCTOR EXCLUDES AUDITS 14TH CLASS DAY FOR SUMMER 2024

Roger Hadfield Ogden Honors College

| RESP | ESP | | | LLU | | ULU | | MASTERS | | SP PROF | | DOCTORAL | | TOTAL | | | | | | |
|-------|---------|------|-----|-----|-----|------|------|---------|-----|---------|-----|----------|-----|-------|-----|-----|-----|-----|-----|-------|
| UNIT | DEPT | CRSE | SEC | SES | LOC | DELV | CR | ED | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH |
| AP | HNRS | 2012 | 900 | | EN | | | 3.0 | 5 | 15.0 | 12 | 36.0 | | | | | | | 17 | 51.0 |
| | HNRS | 2030 | 900 | В | | WB | | 3.0 | 2 | 6.0 | 4 | 12.0 | | | | | | | 6 | 18.0 |
| AP | HNRS | 2030 | 901 | | EN | | | 3.0 | 5 | 15.0 | 10 | 30.0 | | | | | | | 15 | 45.0 |
| AP | HNRS | 3000 | 900 | | PS | | | 3.0 | 1 | 3.0 | 2 | 6.0 | | | | | | | 3 | 9.0 |
| AP | HNRS | 3025 | 900 | | PS | | | 3.0 | | | 1 | 3.0 | | | | | | | 1 | 3.0 |
| AP | HNRS | 3500 | 900 | | EN | | 1.0- | 6.0 | | | 2 | 6.0 | | | | | | | 2 | 6.0 |
| COLLI | EGE TOT | AL | 6 | | | | | | 13 | 39.0 | 31 | 93.0 | | | | | | | 44 | 132.0 |

SCH DETAIL REPORT SUPPLEMENT HNRS COURSES MAPPED TO COLLEGE OF INSTRUCTOR EXCLUDES AUDITS 14TH CLASS DAY FOR SUMMER 2024

College of Science

| RESP | | | | LLU | | ULU | | MASTERS | | SP PROF | | DOCTORAL | | TOTAL | | | |
|------|---------|------|---------|----------|------|-----|------|---------|-------|---------|-----|----------|-----|-------|-----|-----|-------|
| UNIT | DEPT | CRSE | SEC SES | LOC DELV | CRED | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH | CNT | SCH |
| AP | HNRS | 1035 | 090 | LN | 3.0 | | | 1 | 3.0 | | | | | | | 1 | 3.0 |
| AP | HNRS | 3035 | 091 | LN | 3.0 | | | 4 | 12.0 | | | | | | | 4 | 12.0 |
| | HNRS | 4000 | 090 | | 3.0 | | | 1 | 3.0 | | | | | | | 1 | 3.0 |
| COLL | EGE TOT | AL | 3 | | | | | 6 | 18.0 | | | | | | | 6 | 18.0 |
| | | | | | | | | | | | | | | | | | |
| GRAN | D TOTAL | | 13 | | | 13 | 39.0 | 50 | 150.0 | 0 | 0.0 | 0 | 0.0 | 0 | 0.0 | 63 | 189.0 |